Geometry Review 1.1 - 1.3 Name: Jﬂfﬂg'(héf Uﬁ} -

#1-7 Define the following terms using COMPLETE SENTENCES.
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8. Lines GH amdﬁ{+ intersect at point L for G(-1, -3), H(5, 0), J(-2, 4), and K(2, -4). Point M is coplanar with the
points, but not collinear with GH or‘]-ff. Graph GH andﬁ, and points L and M.
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Refer to the figure at the right for #9-12.

9. How many planes are shown in the figure? (0

10. Name three collinear points. S X b’ﬂ

11. Name four points that are coplanar. < 2 [\ N
12. Name one plane in this picture. Pm ne ,4%

13. Name a line that intersects WM., —
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14. Find the length of the pushpin. E:“\}:_.—::~WE
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For #15 and 16 find the lenezth of each seement given.
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17. Point S is between points R and T. If RS = 2x, ST = 5x + 4, and RT = 32, find the length of x and the

length of ST. : . P
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18. Use the Pythagorean Theorem to find the distance between (2, 3) and (4, 4). s
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20. Find the midpoint of NQ usmg the points N(2, 0) and P(5, 2).
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For # 21 and #22 Find the coordinates of the missing endpoint given that P is the midpoint of NQ.
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